B E AN ERAE#

304T HM Ml G2

Isternal die angle senew

wERN
RiRET

1, 2F BB 34 51, 5L 0, 5

= ¥ =
Rk, MEIERBE, ERER < SRR

BHEFHERE, FRF.

- 4 it
/ B
304RARIFHOTBIE T, H RS, BhME, KB
. (BRSNS B, mIKE, EAAE

EXQUISITE _ WORKMANSHIP

L ELIZ

THREZE  AOMF R

FOCUS ON FASTENER FOR MANY YEARS , STRIVING TO MAKE EVERY SCREW EXQUISITE.

E R YO

FEEH ROHSHR HEE

o4 5RA] ok | s | wiosoh
I IO T T

: — ‘
—
=
—
7
=
—)

"
!

. “//‘
o~ g )|

% B R D FE Y E M

304T B MG |

Iternal ain angle serew

FERN

15, 7F BB 34 5], AL T M, 8
ZHEMEENEF.

iR TS

RtE, TRIERBIT, ERAER
BAETFHERE FiRF

S=wESE
30478 RIFAIMIGHE. 0. AR, ENHE, THEIT
. RIEE S Rk, B, FSMSER, [ERAE.

EXQUISITE _ WORKMANSHIP

L ELIZ

FEREMAZE RO Nk

FOCUS ON FASTENER FOR MANY VEARS , STRIVING TO MAKE EVERY SCREW EXQUISITE.

LN YO

5w ROHSHR &R

1 _'lgsln 7

" P




L
23
0,

k L

RETiHRE: SAGEZKED) F13n: M3*108EEZA3mm, KEH10mm BEfi:mm

M4 0.7 3 2.8 7 6.65

M6 1 424 3.76 10 9.65

M8 1.25 5.54 5.06 13 12.57

M12 1.75 7.79 7.21 19 18.48

M16 2 10.29 9.71 24 23.16

M20 i 12.85 TZA5 30 29.16



[

Eplisr, %,max

ek C S Mn P s - Mo NI Cu ek
ANTRBEEER, EF—REASENT
304-A2 0.1 1 2 0.05 0.03 1520 8-19 4 LARE{RiA, SnIiEassT. SRAET

Shas et IEal BREER
16- AnsH . MifEibEENE30408, HRERT
316-44  0.08 1 2 0.045 0.03 23 10-15 1 GERBUENE, ENRniEetE R
18 it
e RS ERT % MR S BN %
DIREFEFT %W, HRPS N EETTIRE
NS BT 1728, MRS SR R12%
DI TFREASTHE0.03%ELETEN, REE55 058022
SRR AEENT R, DERFUERRNNMRE, TERISEIRATR, REREETRE, 85
O R R8T 0.12%

e
R HAnl MRS EEET lBREmpa/mmy  ATEARSEEESAmpa/mm; TS {EHCE mpa/mm;

50 <39 500 210 0.6d
HE{E A2, A4 70 <24 700 450 0.4d
80 <24 800 600 0.3d

Mlmm

LASEHEA T ALY

[EEE SOATEETREEAN, BREESTIRETass e b SN SR
- SRR THET D, PRLASOCT AR M et E Rt . BFTLL B REiRs0amEmhita
S,
23047 RBIE R 3044 FHm T
[EgE2 DZFEB04TEME ASMEAKIGN, INRAEENET04754. |
DEENF RS . 8§
QFFRFOL, BHTPrERAE.
3EEAAEEAILE?
(D3 D200, BEETRIFENER, BARESIEE.

@30474550, ESNEAEITIE, HIRIdnEE.
@31674550, i, EMERIEERAAL LY, SRERTERRLE E.

RiRENFRFRRUE, SLEREN FERERERZERAE, BHHE

L AL s
il

ESAET LTS, 1% ERAEREGEIERES

304 A FEHA N IR IRARIR P SN SARFT P HH FeH & M3M4MSM6



R = .
& L z : : ﬁlgﬁﬁ}ﬂ'&ﬁgw,@ ? A % &ﬁ ‘ @ gﬁﬂ
b b il S ) 517, B 0. g% B SR AA I

HNBTFHERLE, TRT.

304 R FRFABEIE. W, & 7N M 155, +
B (RIS IIATERE. #TiR, WSNER, ERARE.

=

o

R R
o |
| e
I 9

wy

RPisRE: SR HZEE(d L) FinM3* 16825 HZ23mm, ¥ E16mm  #Eii:mm

M2.5 4.2 2.3 2,2 0.5
M4 7 3.9 7.8 0.9
M6 10 5.8 11T 1.6

M10 15.8 975 17.8 2




M3* 6 [20]

M3*16 [20F]

M3*30 [20E]

M3*45 [20E]

M4*10 [20E]

M4*25 [20F]

M4*40 [10E]

M4*a0 [10E]

M5*10 [10ZE]

M5*20 [10F]

M5*35 [10E]

M5*60 [10E]

M6*10 [10E]

M&6*20 [10F]

M6*35 [10E]

Ma*a0 [10E]

M6*100 [5E]

M3* 8 [20E]

M3*20 [20E]

M3*35 [20E]

M3*50 [20E]

M4*16 [20E]

M4*30 [20E]

M4*45 [10E]

M4*70 [10E]

M5*12 [10E=5]

M5*25 [10E]

M5*40 [10E]

M5*70 [10E]

ME*12 [10E]

ME*25 [10E]

ME*40 [10E]

ME*70 [5 E]

M3*10 [202=]

M3*25 [20E]

M3*40 [20E]

M4* B [20E]

M4*20 [20E]

M4*35 [10E]

M4*50 [10E]

M4*B0 [10E]

M5*16 [10E]

M5*30 [10E]

M5*50 [10E]

M5*B0 [10E]

ME*16 [10E]

ME*30 [10E]

M6*50 [10E]

ME*B0 [5 E]

M3*12 [20E]

Ma*o0 [5 =]



